1.300 - 8 =
3.200-7 =
5,400 — 9 =
7.800 - 6 =

Subtract a single digit from whole hundreds
Maths worksheets from mathsblog.co.uk

I like doing these. They are all taking away a
single digit from a multiple of 100. Just put
the correct numbers in the boxes.

) )
2900 - 3 =

— —

) )
4500 -5 =

~_ ~~

) )
6. /00 — 4 =

— —

) )
8. 500 -2 =

~_ ~~

On the next set of questions write down how

4 _ N\
Explain:

10. 600 —

11. 800 —

- =l /
B

@1 worked out the answer in your head.

- J

Explain:

= 592

Explain:

= /97
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1.292
5. 391

Q.6

Subtract a single digit from whole hundreds
Maths worksheets from mathsblog.co.uk

Answers
2.897 3.193 4. 495
6. 696 7.794 8. 498

10. 8 11.3
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